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However, those liable for — X°7 9130577 370022 1721 212 379 29 IIR® 200 1‘7:&]
prohibitions they receive K’nass, and it is according to Shimon Hatimnee

Overview

The Xn>72 stated that N1 MY have no 01p. The X773 discusses what is meant by N1y
maw.? The first answer was that N refers to 72 mn» *2»n and Naw refers to  *2»n
mn2, indicating that 1K °2»1 receive 01p, which is according to the view of *1°ni1 ]13J73W.3
Another explanation is that N7y refers to 7"°2 mn 32> and MN>13 °20, and NI refers
to 1IR? *2»n (they too do not receive 01p). This follows the view of X°01a 12 WA .t
Our moon explains why the X172 was not established according to other aXin.

mooIN responds to an anticipated difficulty:
U AnFRETFNINE FAa th a NP NYIINY 229 230 MNY S8 MN XY

The X923 could not have said, that this rule (that Ny refers to 7"°2 Ny °2°°1 and NI
refers to NIN>12 °2N) is according to 1''9, since according to 17 he would not refer to

MmN M2 "2 as nymaw -
- 61"1 N2 MNM 25N NN 225N MYN ’9NY
For 1"7 equates ninsas 5291 to 7''53 ninsm 93»n —

MooIN anticipates another difficulty:
- 91’1N5 297N 1IN’ 229N NIV MNMN 229N NIV SN:I"P)’ 291 NN 7‘1)3N‘,7 NDT N

And the reason the X773 does not say, ‘this Xn»92 is according to ¥''%; where ny=y

" This mooin is bracketed in our M3 (with a smaller font), and presumably it is a 2°32° MO,

2 It cannot mean wnn nraw, which are only 132777 0K, for since N he can marry her and fulfill 7wKR? 7°7n X9, why
should she not receive 01p!

3 sy 1WA maintains that the P09 (in 113,23 [X¥N] 0°727) of AWKY 700 ¥ regarding an 70UR, means 72 WY WX
M, that 72 o910 7P, which is the case by 11X *2»n, but not by 7"°2 N1 M5 2.

* X°011 12 W' maintains that WX 770 19 means 7™PY TIRIA WK, which excludes even TR 207,

> m1pn 123" is of the opinion that we apply »"2%p by mn»> *2»n, just as by 7"°2 mm» *2»0 (but not by XY *2>n).
Therefore, by 7"2 min *2»n and Mn»™3 21 there is no 1P payment on account of n"1%p, however by x> 277,
there is 01, since 11"217 agrees with "1 that 22wm 712, Seemingly we could have said that it is 7217 who maintains
this view which the X713 attributes to *12°ni7 1'wnw. See ‘Thinking it over’ # 1.

6 According to 7"211 both 7">2 mn°» *2°°11 and M2 *2»1 receive no 03P for the same reason; n"2%p. Why divide them
into two categories of (7"*2 mn ) Ny and (MN"3) NI, when regarding the non-payment of 01p the reason is the
same. However, according to *»°n77 1Wwnw who maintains there is no n"2%p regarding nin13 *211 and the reason there
is no 01p by mn>1> *2»1 (even though that in general N1N°72 21 do pay money), is because PY17°P is not 091N, we can
understand why it is divided into two categories (7"°2 nIn°1) N1y has no 01 on account of n"2%p, and (MN™2) NrIw
have no Dip because 1°09IN PYWITP T'R.

" This is referring to the X7 XX’ in the X7nx (see Overview’) that the Xn™M2 is according to X011 12 w"9, where
Ny refers to NIN>I2 °2°°mM 792 NI 2°°0 and DY refers to 1KY 21 (see footnote # 4).

8 "3 maintains that PIR? °2°°172 709N PYITR PR,

® We could exclude XY 21 from 03P even according *1°n77 1WA (see footnote #3), if we follow the view of ¥"3
that 1187 212 09N VTP TR, so there is no 717 72 ww 7wR. See ‘Thinking it over” # 2.
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refers to 7"°2 N 921 and NI refers to NINIIS 9217 and MIRY 9207 —

mooIN responds:
- 950911 PYITP 9NDRT 19299 199N SIPINY 199 RNIT NIN

Because the X723 rather prefers to establish the Xn»72, even according to the 3129 who
maintain that >2175p are 19990 by X% °2»n, and the 7297 is like the 7327 —

An alternate explanation why the X773 chooses X011 12 "9 over ¥":
= N1 919907 PYNIY 2N NP NIYITA 9IRPT DIVN M)

And additionally, since the X713 stated in the first version that the Xn»92 is according

to "1 WwRw, therefore -
[:932907 PYRYT nnYa 93 M7 XN NIDIN 12 PYNY 229 231 S9BNT NIINI 1) VIND

The %7723 also stated in the other version that the Xn»92 (can be) according to »''aws,
for he is the disputant of “13n77 waw.

Summary
We need a clear distinction (regarding 031p) between My and M2w (which there is not

according to 71"217), and would like to establish the Xn*72 according to the 7127 (not ¥"7).

Thinking it over

moon asks/explains why we do not establish the Xn»12 according to either 72 X171 "
mpa, or X2°py . What, if anything, would be gained if we would establish the Xn»92
according to these o°xin?"

2. Why is it that in the X713 regarding X°017 72 w"9 the XA states; 7"92 NN 5270 <Y
mnN»2 °2»m and PIRY 921 NIw; however, when N0 asks we should follow v, he
states;'® 72 NI 20 1Y and 1IRY *37mM MM *27n NP ?!

10 Therefore, if we wish to say that there is no 01p by 1R? *211 (even according to the 13127 that 212 102N PP
1X2) we need to follow the ruling of n"awA (who requires 71*p? 7R AWK, which does not apply to I8 *2°r).

' See footnotes # 3 & 4. It is more balanced that we can interpret the Xn3 according to either of the disputants.
Additionally these two express their views clearly (2,u3) regarding whether there is 017 by X% 211 or not.

12 See footnote # 5.

1 See footnote # 9.

2
TosfosInEnglish.com



